1.



AT X = (L, 2
i g0 g
Fatelet,

011 Hote] x oAy 2 ths
Ebet o, a+b 9 3



oo <t

8 o o



<

oA

x+2, g(x)

% /) =

(80 )7 (x)

oA

bk

bl Re191712

5 76



® y=rf(x)y=r"(x o ZHZE
o],
@ fla)="bol" f(b) = a otk

® y=f(x) Y AHYFd2y=f1x) 9



2x—1
e e i

aﬂia+b:



ax+b
x—1

o, A< a, b 9] F ab °] 4= FotoiEt.

o] aejmet 1 Agt4o] A ns} mE A



{x|0<x<1}0]aL,

ojejo] A

ﬂmo

ol
-

oA

,mo
T
Tod
T
N
H|
Giy
™
or
<=
TR
Mﬂ. __OH
Yy rE
T
N
oy &
o L=
— ~
Q Q o
w Av-Y
2= AW
Q
o - &
—— 9
Il ¢
= Lt
= BK

ol

A

O F5H y=x(0
gict

ol

)

@ F5Ay2x(0<x<1, 0<y<1)

Aolct
@ B4 y>x(

ol

)

0<x<1

o}

=l
o

|

A=
TT°

ol

)

o

@ B y<x(0<x<1,0<y<1)

slot.

® F5Hy<x(0<x<1,0<y<1)

ol

)

o

7Holct,



1 X X 2x+1
oA D) GrDerA D) exrDBr+1) xBrA D)
sl 9

tlo

s

® -2 @ -1 ® 0 @ 1 ®

Wl



ol
N
o

=%

— 0 o 2 4

X2 -Tx+1

10.

@ 46 B 47 @ 48 ® 49

D 45



11.

Al A5~
T4 V2 - x+ —— ,_

A% 29 A

@ 27 @ 374

o gro] 447t HE% x| WS

3 47 @ 574 G 674



12. -1<a<39 W, Va2 +2a+ 1+ Va2 - 6a + 95 73] stoft,

S ER
=¥



Qo L L o1
13. f0)= Va4 e R TR M, oy 7 0 ey
of et

S ER
-

o & 7ot



14.

tolzt.

I

oltt. p+q0l 2 T



15.

V2x +2 4 a o O Z7t A
a9 Zge szt

1,3,44

1=}
s

il

2 Ay

=

=



16.

=]
s

a

2]
E

Sk

=

s
i=hu

y:

ZF

XeB
E=

Vax + b+c 2] 2 Z7} o5
, a+b+c 2] & Fotoi )




17.

§<x<aold e y=-Vx+1+3 2 ZUgto] b, F3gko] -1
A W, a+b 9 gta okt

w
=



X

18. ool A5 WA WA B F B2 f() = o g(0) = ¥R
o Hhsto]
(Fog)a) = 3 A o, (go)(da) © 27 (% (a>0)
V5 25 35 45 6V5
== ©@— 00— @®— 06—



1
L nE
Sl Nl

<

L
__OD

A
fife)
Nr
=
EE

® 37
H
@ 4 70 ®
5 7R

@ 2 74

@ 174



5t

agzme] = Wy Aol o] A2l E

_04

eFy = g(x)

® 2

@ 2

31

@ -2



21.

|
Ny

®a+b=1



4 x of tste] f(-x) = £(x) oItk

=9

@ XxX9gn

© &=f 9 AE 3700l

® © ® © @ A0 6 O .6

ONS)



23.

Zd%ﬂ%‘”@é&mm/hiﬂaiiﬂo} L ooju
2of|A] stefotel I&H AL 5 B Fto] A o}b a2 3
AEHA 20 thE HOSTh o] AEH AL v} 7HHo] I
100 km o] A Adofl= oF & o o] & A7} ‘*EI %% F?

&L
A} 2450]
14 o

r[o l‘
_l}->< J

=

’

—

@ 50 T @ 100 X ® 120 T
@ 150 Of ® 200 o



o]

=

=4 o) mojoto] (x [—2<x <0} W, T} F A

D | -2<y<0) @{y| -2<y<?2)

@y -2<y<4) @ {y|0<y<2)

®{y|2<y<4)



24 o) Hugke , A% molet




26. x= v/3-V3Yd

D1 @ 2

X 4+x2-3x+6

A 4+2x34+2x4+9

©)

DO |

o ghe?

@

> | =

QO | =



27.

AR f(x) = 2% 4+ ax® +bx+c ol ot g(x) = (x4 1) f(x) - 24x
2 o] gt
8(0) =g(1) =g(2) =g(3) =0 L ™, f(4) o =7

@D 20 Q@ 22 3 24 @ 26 B 28



f, g7t 2l |

51
=

@ 3 ® 4 @ 5 ® 6

@D 2



29.

Fe f(x) = 2x+50°] Higtod f2 =

o, ;L_!‘ nOl'

ol-gated f7(5) 9l gh=

v
o

75.3,4 skt ol o, f"(x) & F78

fof. f?

Tatoiat

=f20f, e
SFIL 142422423 42" =

fn+1

=flof

27+l -1



